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SSC CGL/CHSL TIER 2 (CRASH COURSE)
Which one of the following fractions is greater than Ya

1 AeRRm i avar w34 TaRss

(a) 35/71
(RPN,
c) 71/101
wd) 19/24
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Ma) 4

VE
(c)8
(d) 2

o (1681 +5) + 169
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1 1 1 1
3 (1 5)(1 6)(1 7)...(1 39) .

(a) 2/39
P(b) 4/39
(c) 6/39
(d) 8/39
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1
42+—1 =2
2+ 1
2+—1
2+§

(a) 99/37
Pwib) 99/41
(c)
99/253
(d) 99/55
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50.716

Ma) 43/60

(b) 42/13
(c) 13/42
(d) 13/60
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6 Arrange the following surds in descending order.

CERE T K ACE KT C I G Ry
W,ZW, Y11 and V2
o) 2,03, 1
ZW

(b) V4,2 , 'Y11,
Zi\l/ﬁ
(c) V4,2 , 317,
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7 1312 x 1672 x 183 x 911

(d) 144
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8 A number on being successively divided by 12 and 15
leaves remainder 4 and 6 respectively. Find the remainder

when the same number is divided by 180.

HAF T 123X 15 & g faoriorag g 9% T 98T
FHL: 4 30T 6 ATHA <dT g | SHT G&AT ' 180 | FAwrivra FL

T AYH ST hiorTN 7. 76

(b) 80
(c) 96
(d) 100
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6 +

6 +

6+\/6+\/6+....oo

b 028

(b) 1
(c) 2
(d) 6
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1 If the ratio of areas of two similar triangles is 9 :
0 16, then the ratio of their corresponding sides is

Tf &t aeT STl & &Rl T STqaTa 9: 16 &,

Y S TS TAT TET HT ST & M)3:5
(b) 3:4
(c)4:5
(d)4:3
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1 A man can do a piece of work in 5 days, but with the
help of his son, he can do it in 3 days. In what time
1 can his son do it alone?
T ATHT 5 fIAT § UF FTH FT THT &, AT YT o
M AR IZ A 3 RATH W gFar gl Faa a9 &
IHHT ST AFAT FE THAT &7 (a) 7 days

(b) 8 days
wvic) 7(1/2) days
(d) 6(1/2) days
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Two trains start from P and Q respectively and travel towards each other at
a speed of 50 km/hr. and 40 km/hr. respectively. By the time they met the
first train had travelled 100 km more than the second. Find the distance
between P and Q?

I A FAM: P AR Q F g ardt & 50 fadt / =t & rfa & ik 40 faedft / wer &
T Teh AL AT AL ATAT 21 3 ST F TgAT & & A, T T a8 @ 9 100
foredft srfer e 2 ot oft P ik Q & it & & st Fifsg?

(a) 500 km
¥xb) 630 km
(c) 660 km

(d) 900 km
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A container contained 80 It. of milk. From this container 8 It. of milk was
taken out and replaced by water. This process was further repeated two
times. How much milk is now contained in the container?

TF e | 80 AT TH ATI TH FT| TH Her< ¥ 8 AT T Fr AFHTHT I SArg qT+T
A T AT 3= WA T ST S A1 AT AT FeA | AT fhaar g A 22

(a) 54.23 It
%, (b) 54.26 It
(c) 56.32 It
(d) 58.32 It
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1 A student multiplied a number by 3/5 instead of 5/3 .
What is the percentage error in the calculation?

4 TF I T 5/3 % S Th &4t Fr 3/5 I fFAT ot §

yfaera i FT 872

) 44%
) 34%
(c) 54%
(d) 64%
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The marks price of a radio set is Rs. 480.The shopkeeper allows 10%
1 discount and gains 8%. If no discount is allowed find his profit.

T T 4 #7 T go7 €480 § , TFIR 10% T IH< 8% ATH TTH FLAT 3
D I g G2 i AFATT TS & IV ST ATH ATq FX ?

M) 15%

(b) 20%
(c) 56%
(d) 14%
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In a class the average age of 40 students is 15. If 10 new students are
included then the average age of the students increases by 0.2 years find

the average age of the new students?

TF F9T H 40 FrAT i 3=a g 15 g1 I 10 7€ At v i v srar g, av
AL T Y H 0.2 Y it FT SIaAT &, TC JTAT 61 A&a A FT QT T2
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1 1l x+- =3,

Yoo

(b) 1
() 2
(d)3

7 o e ] AR TR TUT——
T p—
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1 tfafk x4+ = = 194, then find the value of/AT 7T FX ?

8 ﬂ+$=1

(a) 76
(b) 26
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1 If /4 sine + cos e = 7/5, then the value of ATH ITT FX

sine X cose =?

(a) 4/5

(b) 7/8

vc) 13/12
(d) 12/25




